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7 100kN/mM%#BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — — |3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 452 56.39 | FnLS | 000 ~ 0.00| 1.57 8.38 Zh st 1.00 | 5.00 ~ 6.00 56.39 | =nLS | 5,00 ~ 6.00| 1.57 8.38
2 100kN/mM%BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — — |3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 762 97.64 | FnS | 000 ~ 762|202 10.79 st 1.00 | 6.00 ~ 1080 97.64 | =hLS | 5,00 ~ 1080 2.02 10.79
3 100kN/mM%BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — — |3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 7.39 94.23 | #nS | 000 ~ 7.39| 2.01 10.76 st 1.00 | 6.00 ~ 1020 94.23 | =hH | 5.00 ~ 1020 2.01 10.756
4 100kN/mM%BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 000 ~ 4.75 59.22 | #nS | 000 ~ 0.00| 1.67 8.96 st 1.00 | 6.00 ~ 5.00 59.22 | =ns | 5,00 ~ 6.00| 1.67 8.96
100kN/mM%EBZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHEAD ~
zhst ~ s ~ s ~ FnLst ~
100kN/mM%EBZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHEAD ~
zhst ~ s ~ s ~ FnLst ~
100kN/mM%EBZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHEAD ~
Ths ~ st ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhs ~ st ~ st ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhs ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhs ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhs ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhst ~ st ~ st ~ Zhust ~




